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Quiz: Angular Velocity and R

adian Measure

Instructions: Write complete solutions in the space provided. Total /26
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3. Express each as a function of its co-related acute angle and evaluate using exact form.
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4. Evaluate each of the following using related angles and the exact values of the special

angles. Simplify and rational
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ize where appropriate.
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5. A wheel turns with an angular velocity of 15 rad /s.
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a. What is the rotational frequency in revolutions per minute of this wheel?
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b. How far will the wheel roll in 4 minutes if the radius of the wheel is 12 cm?
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The wheel will travel 43200 cm or 432 m
in 4 minutes. |
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The wheel will travel 43200 cm or 432 m
in 4 minutes.

elizabeth
Pencil

elizabeth
Pencil


MHF 4U Name Date

6. A bicycle wheel has a diameter of 68 cm. If Andrew cycles 28 km/h to school, through
what radian angle will his wheel turn in 1 sec?
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7. A satellite makes one complete revolution of the earth in 110 min. If the satellite is
situated 300 km above the equator, find the satellite’s speed in kilometer per second.

/4 Assume the earth’s equatorial radius is 6400 km.
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= .53 km\ e the earth.
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The angle at which the wheel 
rotates is 22.88 rad.
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Satellite is traveling
6.37 km/s to make
1 revolution around
the earth.




